BIRCHWOOD aLEVIT.®

lighting | COmpany

INSTRUCTION SHEET

( CHLOE - RAS

Rotational Arm System
Arm Spacing / Assembly Guide

RAS Installation Guide

STANDARD COVER PLATE (4CP)

J-BOX AND 3-O MUD RING
(provided by others)

_d-""f 3-0 MOUNTING PLATE L
"'"“'H- 3-3/4” DIA. TOOL-LESS "
h MAGHINED ALUMINUM .~

F COVER PLATE "

"‘t-ﬁ

‘r |
| .

8-32 FLAT HEAD l
MACHINE SCREWS ||

l«— ARM LENGTH

ARM LENGTH MEASUREMENT:
MOUNTING SURFACE TO
CENTER OF FIXTURE

O

5/8” DIA. ALUMINUM ARM D—/ “"Hm
1-1/4” DIA. x 1-1/8” LONG MACHINE
END KNUCKLE (center knuckles have
the same dimensions)

NO COVER PLATE (1 TR)TRIM RING OPTION

1/4” THICK PRECISION
MACHINED END CAPS

ARM AND KNUCKLE DIMENSIONS

1-1/4" DIAMETER

x1 1/8” LONG KNUCKLE
— +_— 5/8" DIAMETERARM

—— NUT
—— LOCK WASHER
—— WASHER
______ TRIMRING
4-0 J-BOX =
ON BACKSIDE ™ 3
OF DRYWALL % -

\ J-BOX MOUNTING DISTANCES

‘ CENTER TO CENTER

C )

See continuous run matrix pages for fixture length and cable spacing

Note: To be installed by a qualified electrician per N.E.C. and all local codes.

All Chloe RAS
1fo4d
V-1116

Birchwood Lighting * 2911 Dow Avenue ¢ Tustin, CA 92780 ¢ 714.550.7118 fax 714.550.7151

104



[ CHLOE - RAS

Rotational Arm System
3-0 Mounting Plate

INSTRUCTION SHEET RAS-3-0 MP Option

Standard Cover Plate

BIRCHWOOD | aLEVITON.

lighting | COmpany

1/4-20 STUD 1. Install J-Box (by others) with
ADJUSTABLE ANGLE CABLE GRIPPER 3-0 Mud Ring (provided by
3-0 MUD RING AND J-BOX BY OTHERS

contractor).
MOUNTING HAREWARE, PROVIDED

-Use fixture mounting center

AIRCRAFT CABLE
/ RING chart (on RAS arm spacing

’ page). It is critical that these
| dimensions are precisely followed.

O
] ’ OO 11 (O 2. Install cable tieback system
d - Slide arm ring to desired
= position. Should be set to at
: \ the middle of arm to be most
COVERPLATE effective.(see cable tieback page
MOUNTING PLATE for detailed instructions)

3. Slide cover plates over arms,
slide threads through mounting
plate, star washer and flat
washer, securely tighten with
nut - make sure mounting holes
align with mud ring holes.

4. Complete wire make-up per
code to J-Box or power supply
housing and complete wire

E% - make-up per supplied wiring
diagram.

5. Securely mount fixture to wall
with provided 8-32 flat undercut
head screws (Hex head screws
provided for short arm applications,
Allen wrench not provided).

H

000
4
O

I

6. Slide cover plate over mounting
plate (magnets with pull cover
plate tight against wall).

7. Use Allen wrench to loosen
fixture at arm knuckles.

8. Adjust fixture as desired and
tighten set screws to secure in
place. Set screw may be left

[ oo ) loose for adjustment if desired.

~H  5/64” ALLEN WRENCH

820-00089

. . . 20f4

Note: To be installed by a qualified electrician per N.E.C. and all local codes. V-1116
Birchwood Lighting ¢ 2911 Dow Avenue ¢ Tustin, CA 92780 Due to a program of continuous improvement instructions
714.550.7118 fax 714.550.7151 are subject to change without nofice.

105 © 2016 Birchwood Lighting, Inc. All rights reserved.



r

BIRCHWOOD aLEVIT.®

lighting | COmpany

CHLOE - RAS

Rotational Arm System
Continuous Run Assembly Guide

INSTRUCTION SHEET

RAS CR Installation Guide

@

INTEGRAL POWER SUPPLY

Fixture 1

the knuckle

Fixture 2

Continue wiring through

1. Install J-Box (by others) with
Mud Ring (provided by contrac-
tor).

POWER SUPPLY

2. Slide cover plates over arms,
slide threads through mount-
ing plate, star washer and flat

REMOTE POWER SUPPLY

Fixture 1

Wiring to power supply ctncy
continue to next fixture

Fixture 2 /

washer, securely tighten with
nut - make sure mounting holes
align with mud ring holes.

3. Complete wire make-up per
code to J-Box or power supply
housing and complete wire
make-up per supplied wiring
diagram.

4. Securely mount fixture to wall
with provided 8-32 flat undercut

z 1

head screws (Hex head screws
provided for short arm applications,
Allen wrench not provided).

%
/]

5. Slide cover plate over mounting
plate (magnets with pull cover
plate tight against wall).

=7 POWER SUPPLY

6. Through wire out of 1st fixture,
through the knuckle into the
second fixture and connect the
power to the power supply. (A)

7. Connect 2nd fixture into
knuckle, tighten set screw to
lock into place.(A & B)

8. To rotate and aim fixture into
desired position, use allen
wrench to loosen fixture at arm
knuckles (C) Lock fixture into

place tighten set-screw. Set
screw may be left loose for
adjustment if desired.

Set Screws

5/64" Allen Wrench

Bottom View

Note: To be installed by a qualified electrician per N.E.C. and all local codes.

All Chloe RAS
V-1116

Birchwood Lighting ¢ 2911 Dow Avenue ¢ Tustin, CA 92780
714.550.7118 fax 714.550.7151
107

Due fo a program of confinuous improvement instructions
are subject to change without nofice.
© 2016 Birchwood Lighting, Inc. All rights reserved.



[ Chloe - RAS - TB

Rotational Arm System
TB - Cable Tie Back System

|NSTR UCT|ON S H EET RAS - TB - Cable Tie Back Instructions

1. During fixture installation, slide
the arm ring to desired position.
Should be set to at the middle of
arm to be most effective.

BIRCHWOOD aLEVIT.®

lighting | COmpany

2. Attach 1/4-20 threaded set
screw to secure arm ring to arm
and thread on cable gripper to
set screw.

* | AIRCRAFT CABLE EXIT POINT

o SAFETY NUT
| %‘

3. Cut off die-cast end stop on
aircraft cable, being careful not
to fray ends. Feed aircraft cable
into gripper, attach to arm ring.

4. Attach cable gripper to 1/4-20
stud (by others) at wall to same
distance that ring is set at, to
create a 45 degree angle.

5. Feed aircraft cable through the
safety nut to desired length.

1/4-20 THREADED STUD (cut extra cable if necessary)

(BY OTHERS) \‘
: >
2 ALLEN WRENCH
_{ WALL: (SUPPLIED BYOTHERS)
% ADJUSTABLE ANGLE 1/4-20 THREADED
CABLE GRIPPER ﬂ ‘

|-
ARM RING /

PARTS NEEDED FOR (1) ARM SET UP:
. CABLE GRIPPER 1/4-20 THREADED ARM RING (1 PC)
(2PCS) SET SCREW (1 PC)
~location oo @
arm |engfh ALLEN WRENCH(SUPPLIED BY OTHERS)

—

AIRCRAFT CABLE (1 PC)
D

J-Box (by others)

. - . All Chloe RAS
Note: To be installed by a qualified electrician per N.E.C. and all local codes. V-1116

Birchwood Lighting * 2911 Dow Avenue ¢ Tustin, CA 92780 ¢ 714.550.7118 fax 714.550.7151
108



